
*Hex Head Bolt require 2 Washers - between bolt head - product & nut - product.*

4' Plain Poly Swing
(A) Seat Assembly

(B) - Back Assembly
(C) - Armrest Assembly left side

(D) - Armrest Assembly right side

Hardware
2 - 5/16" x 3 1/2" Bolt

2 - 5/16" x 3" Bolt
6 - 5/16" x 2 1/2" Bolt

14 - Nuts (5/16")
28 - Washers
4 - 2" Screws

4 - 1 1/2" Screws
1 - Set Swing Chains

1 1/2" Screws

2" Screws

*Hex Head Bolt
require 2 Washers - between bolt head - product & nut - product.*

*Hex Head Bolt require 2 Washers - between bolt head - product & nut - product.*

A. B.

C. D.

1. Attach (A) Seat Assembly to (B) Back
  Assembly using six 2 1/2" Bolts.

4. Install 2" Screws to Front Upright and 1 1/2"
   Screws to back of

  Armrest.

5. Attach short end of Chain to Back and
other end through screw eye to bottom of

    front upright.
     Washer - Chain -
         Washer - Nut

2. Attach Armrest Assemblies to each side
    using 3 1/2" Bolts in front hole.
           **Insert bolt from inside out**

3. Attach Armrest to Back Support using
3" Bolt on each side.
    **Insert bolt from inside out**

Premium Poly Patios - Poly Lumber Furniture

www.Poly-Lumber-Furniture.com

http://www.poly-lumber-furniture.com/luxcraft-crestville-plain-4-swing.html
Dan
Premium Poly Patios




